Lk ///

SHBRANG HYDRAULICS

ORDERING DETAILS SB08/3

ORDERING EXAMPLES: SB08 STM G MS S/100~90°

%583 SB08

M U 02 MW

ﬁﬁ#ﬂ:] | |

L L1 1]

Series =5 B 08
25

Hydraulic rotary
executants =ST
WEL R IZEMEL

Norrinal pressure=16MPa =M
THEEN=16MPa

Gear rack design (G5HFR)
Single gear rack

BB AR BN

Double gear racks

Xtk SRIR BN HEL

Mourting styles (&2 f23%)
Flange mounting
EERE

Foot mounting

JEERE

=MF

=MS

Output design(#fith 2 )
Shaft output(ifi 1)
Hollow Shaft output (L)

Piiston ¢ (40Z320rmm) See page 2-9

TERER ¢ (40E320mm) BEH2EHEIR

Swiveling angle (0" -360" )
BEAE (07 -360" )

Furth derails in clear fext
I AE L

color(see color lable)
mas: i (afk)
W=Green:col
W=TikI: colfiF

Seal version (Z )
M=Standard seal systerm
o 3::E3 )

Connection ports/version
(L5 mN /SR
01 = Pipe thread 1o ISO 228/1
BSP #2241
02= METRIC ISO thread
1SO 28R4

End position cushioning (£ 48 14)
D= Both sides, self adjusting
iR, BEhEY
E= Both sides, adjusfing
PRImE i, AEY
U= Without (Fc£&i4)

Pressure fluid (/% i)

M= Mineral cils (DIN 51 524 and 51 525)
8 (DIN 51 524 Fa51 525)

V= Phosphate ester HFD-R
&R F#ERE HFD-R




Mounting D MF S / %A D MF S

7T ¥i ™ 3D

WUXISHIBANG

SB08 STM D MF S

L7

L8

L9
—
8 3 ¢
5 H 3l 8
=
------ \MA
|
Size DMF S (inmm) R~ D MFS (mm)
MA M1

DA S D1|D2| H | H1 Lo L1|L2(L3|L4(L5|L6|L7|L8|L9 01 02 M2
40 730 70 | 95 | 55 | 197 | 275+1.54a 1,|184({164|160(140| 79 | 20 [174]|105| 6 Gl1/2 M22X1.56| M12X20
50 1297 80 | 105 66 [ 231 | 288+1.75a 1,({210(170]185]|146] 90 | 22 |183]|125] 6 Gl/2 M22X1.5| M12X20
63 2266 Q0 |115| 72 [ 253 | 310+1.92a 1,]|232(194|200|164|100| 25 |210]140] 6 G3/4 M27X2 | M16X25
80 3987 95 | 125] 86 | 292 | 370+2.09a 1,]257|205]|225|175(105| 25 |232(150| 8 G3/4 M27X2 | M16X25
100 7476 | 115[145|100 | 343 | 400+2.51 a 1)|306[234|265[194|129| 32 |264[165| 8 Gl M33X2 | M20X30
125 13141 1251155116390 | 464+2.83a 1,|334[274]|285[230{139| 32 [304[170] 8 | G11/4 M42xX2 | M24 X35
140 18317 | 145180125418 | 484+3.14a 1,{354|286|305/240|161| 36 |310/200{10 | G11/4 M42X2 | M24X35
160 26583 [ 165|200 140|464 | 511+3.49a 1){390|315|330({255|183| 40 |334[220|10 | G11/2 | M48X2 | M30X45
180 36334 [175[220[152[518 | 584+3.77a 1)]440|390(380]|330|195| 45 |400({240{12 | G1 1/2 M48X2 | M30X45
200 52335 [195|240[170[578 | 611+4.40a 1)|500|425[440]|365|215| 45 |1458[260|12 | G1 1/2 M48X2 | M30X45
2203 92372 | 200 | 245|200 | 660 | 1338+5.62 a 1) [600[550({520{470| 2) | 45 |560|340|12 | G1 1/2 M48X2 | M36X55
2503) | 152416 | 220| 275|255 | 775 | 1540+7.34a 1) [700|590[620|510| 2) | 45 |600(380| 12 | G11/2 | M48X2 | M36X55
2803 | 182900 | 250 315|300 | 900 | 1700+8.34 a 1) [800(|690|720[{610| 2 [ 50 |700|420{12 | G11/2 M48X2 | M36X55
3203 | 325720 | 320 395|320 | 980 | 19204+9.12a 1) |900|790|820[710| 2» | 56 |750|480[(12 | G11/2 M48X2 | M36X55

NOTES: E R
DA=Piston ¢ DA=/EHE-¢

MA=Maximum output torque (NM)
a =Swiveling angle(0” ~ 360

selection
?  =Only piston ¢ 220 fo ¢ 320 mm, and form of
key-seating corstuction is 3
* =Norrinal pressure=14MPa

=The custorner according to requests to make

MA= iz K4t 4B (NM)

a =1BFAEO° ~360° )

El

=EPIREKIEE
={EEERZ $220 F ¢ 320 mm, FHE A3
=T{EEH=14MPa




SHBRANG HYDRAULICS

Mounting GMFS / % AX GMFS

SB08 STM G MF S

0.2

L1

L3

Size G MF S (in mm)

D2g6

Rt GMF S (mm)

MA M1

DA o D1 |D2| H | H1 L1|(L2|L3|L4(L5(L6(L7|L8|L9 01 02 M2
40 1460 70 | 95 [110|210 | 275+1.54a 1,{184[164[160(140| 79 | 20 [174[105| 6 Gl1/2 M22X1.5 | M12X20
50 2594 80 | 105132252 | 288+1.75a 1,|210|170]|185|146| 90| 22 |183]125| 6 Gl1/2 M22X1.5| M12X20
63 4532 90 | 115[144 |274 | 310+1.92a 1,(232]|194|200[164)|100[ 25 (210|140 6 G3/4 M27X2 | M16X25
80 7974 95 | 125|172 327 | 370+2.09a 1,|257]|205[|225|175)|105| 25 [232|150| 8 G3/4 M27X2 | M16X25
100 14952 | 115145 |200 | 380 | 400+2.51 a 1,[306[234(265[{194[129| 32 (264|165 8 Gl M33X2 | M20X 30
125 26282 | 125|155 232|446 | 464+2.83a 1,|334|274]|285|230|139| 32 |304|170| 8 | G11/4 M42X2 | M24X 35
140 36634 | 145|180 | 250 (482 | 484+3.14a 1)|354|286|305|240(161| 36 |310(200|10 | G11/4 M42 X2 M24X 35
160 53166 | 165|200 | 280 (538 | 511+3.49a 1,|390[315|330|255(183| 40 |334(220|10 | G11/2 M48 X2 | M30X45
180 72668 | 175|220 304 | 596 | 584+3.77 a 1,|440|390|380|330|195| 45 |400|240|12 | G11/2 M48X2 | M30X 45
200 104670 | 195|240 | 340 | 656 | 611+4.40a 1)(500(425[440(365(215| 45 [458(260[12 | G11/2 M48X2 | M30X45
2203 | 184744 | 200 | 245|400 [ 720 | 1338+5.62a 1) |600|550|520({470| 2» | 45 |560({340|12 | G11/2 M48 X 2 M36X 55
2503 | 304832 | 220 | 275|510 (850 | 1540+7.340 1)|700(590|620|510 2) | 45 |600({380|12 | G11/2 M48 X2 | M36X55
2803 | 365800 | 250315 [ 600 [1000[ 1700+8.344 1) [800[690(720[610] =) |50 [700[420[12 | G11/2 | M48x2 | M36x55
3203 | 651440 | 320 | 395 | 640 [1060] 1920+9.124 1)|900|790[820|710| 2 | 56 |750|480[ 12 | G11/2 | MABX2 | M36X56

NOTES:

DA=Piston ¢ ERER-O

MA=Maxinmum output torque (NM) (K4 HEREE (NM)

a =Swiveling angle(0® ~360° ) a =1BHAHFO° ~360° )

" =The custormer according to requests to make " =FPIREREE

selection
# =Only piston $220 to ¢ 320 mm, and form of
key-seating consfruction is 3

¥ =Nominal pressure=14MPa

3l

={UERER $220 E ¢ 320 mm, FHREX A3

=T{EEH=14MPa



7T ¥4 1 3

WUXISHIBANG

Mounting D MFH / %3 A D MFH

SB08 STM D MFH

L1

Size D MF H (in mm) R~ DMFH (mm)
MA M1
DA ag D1|D2| H | H1 Lo L1|L2{L3|(Ll4|L5(L6|L7|L8|L9 0 02 M2
40 730 50 | 95 | 55 | 197 | 275+1.54a 1,(184|164]|160[140{576|14|174][105 Gl/2 M22X1.5| M12X20

6
50 1297 60 | 105] 66 [ 231 | 288+1.754a 1,]|210|170]185|146|688| 18 |183|125| 6 Gl/2 M22X1.5| M12X20
63 2266 65 [115] 72 | 253 | 310+1.92a ,,|232|194|200|164|738| 18 |1210|140] 6 G3/4 M27X2 | M16X25
8
8

80 3987 70 | 125] 86 [292 | 370+2.09a 1)|257|205|225[175|79.8| 20 |232|150 G3/4 M27X2 | M16X25
100 7476 85 [ 145]100 | 343 | 400+2.51 a 1)|306]|234|265|194|958| 22 |264|165 Gl M33x2 | M20X30
125 13141 90 [155]116|390 | 464+2.83a 1)|334]|274]|285|230(1004 25 |304|170| 8 | G11/4 M42X2 | M24X35
140 18317 | 105)|180[125|418 | 484+3.140a 1)[354[286[305/240[117.4 28 [310{200[ 10 | &1 1/4 M42X2 | M24X35
160 26583 | 120| 200|140 464 | 511+3.49a 1,|390]|315|330|255(1348 32 |334|220| 10 | G11/2 M48X2 | M30X45
180 36334 |125|220|152 (518 | 584+3.77a 1,|440|390|380|330/1394 32 |400|240|12 | G11/2 M48X2 | M30X45
200 52335 |140[240]170|578 | 611+4.40a 1)]500]425|440]|365(1568 36 |458|260|12 | G11/2 M48X2 | M30X45
2203 | 92372 | 145245200 | 660 | 1338+5.62a1)|600|550|520|470| 2 | 36 |560]|340|12 | G11/2 M48X2 | M36X55
2503 | 152416 | 165| 275|255 775 | 1540+7.34a 1) |700|590|620|510| 21 | 36 |600(380| 12 | G11/2 M48X2 | M36X55
2803 | 182900 |175] 315300900 | 1700+8.34a1)|800|690|720|610] 2 | 45]700({420| 12 | G11/2 M48X2 | M36X55
3203) | 325720 | 195]395[320| 980 | 1920+9.12a1)|900|790|820|710| 2 | 50 |750[480| 12 | G11/2 M48X2 | M36X55

NOTES: R
DA=Piston ¢ DA=TEREHE-¢
MA=Maximum oufput torgue (NM) MA= iz A4 i 3%E (NM)
a =Swiveling angle(0” ~360° ) o =$RENFHEO° ~360° )
' =The custormer according fo requests to make ' =EPEREKIEE
selection ! ={UERER 0220 F ¢ 320 mm, TR A3
2 =Only piston ¢ 220 to ¢ 320 mm, and form of * =THEEh=14MPa

key-seatfing corstruction is 3

* =Nominal pressure=14MPa




SHBRANG HYDRAULICS

Mounting G MFH / %743 G MFH

SB08 STM G MFH

Lo g

L8

L1

H1

=L

Size G MF H (inmm) R~ G MF H (mm)

MA M1
DA il D1 |D2| H | H1 Lo L1 (L2 (L3 |L4|L5|L6(L7|L8|LS 01 02 M2

40 1460 50 | 95 1110 ]210| 275+1.544a 1)[184]164|160[140|57.6| 14 |174|105 Gl/2 M22X1.5 | M12X20

50 2594 60 | 105132252 | 288+1.754a 1,{210(170|185[146|688| 18 |183]|125 Gl/2 M22X1.5| M12X20

80 7974 70 |125)172 327 | 370+2.09a ,|257|205[225(175|79.8| 20 |232|150 G3/4 M27X2 | M16X25

o)
6
63 4532 65 1115144 |274 | 310+1.924a ,)|232|194|200({164|738| 18 [210]|140| 6 G3/4 M27X2 | M16X25
8
8

100 14952 | 85 | 145|200 | 380 | 400+2.51 a 1,|306|234[265[194|95.8| 22 |264|165 Gl M33X2 | M20X30

125 26282 | 90 | 155|232 [446 | 464+2.83a 1)|334]|274|285[230[100.8 25 |304[170] 8 | G11/4 | M42X2 | M24X 35

140 36634 | 105 | 180 | 250 [482 | 484+3.14a 1)|354(286|305|240[117.8 28 [310]|200|10 | G11/4 M4A2X2 | M24X 35

160 53166 | 120 | 200 | 280 [538 | 511+3.49a 1)|390(315|330|255[134.8 32 [334|220|10 | G11/2 M48 X2 | M30X45

180 72668 | 125 | 220 | 304 [ 596 | 584+3.77 a 1)|440|390|380[330[132.8 32 140024012 | G11/2 | M48X2 | M30X45

200 | 104670 |140 | 240|340 [656 | 611+4.400a 1)|500]425|440[365[156.8 45 |458|260{12 | G11/2 | M48X2 | M30X45

2203 | 184744 |145 | 245|400 | 720 | 1338+5.624a 1)|600|550(520(470| 2 | 36 |560(340|12 | G11/2 | M48X2 | M36X55

2503 | 304832 | 165 | 275|510 850 | 1540+7.340 1) |700|590(620|510| 2) | 36 |600(380|12 | Gl 1/2 M48 X2 | M36X5E5

2803) | 365800 |175 | 315|600 |1000] 1700+8.344 1)|800[690|720|610| 2 | 45 |700|420[(12 | G11/2 M48 X2 | M36XE5

3203 | 651440 | 195 | 395 | 640 [1060| 1920+9.12a 1)|900|790|820({710| 2» | 50 [750(480|12 | G11/2 | M48X2 | M36X55

NOTES: 3. 3
DA=Piston ¢ DA=EEHEZE-¢
MA=Maximum output torque (NM) MA= i K4 H%E (NM)
a =Swiveling angle(0® ~360° ) a =RHAEO° ~360° )
" =The custormer according to requests to maoke " =EPIREREE
selection ? ={UERBER 0220 F $320mm, FEERAIN.
# =Only piston $220 to ¢ 320 mm, and form of ¥ =T{EEH=14MPa

key-seating construction is 3

¥ =Nominal pressure=14MPa



7T ¥A ™ 3

WUXISHIBANG

Mounting DMS S / % AKX DMS S

SB08 STMD MS S
Lo L7 L8
L9
B B
|8
-
............ \ ma
2
4.D3H13
Size D MS S (in mm) Rt DMSS (mm)
DA L D1|{D2| D3| H | H1|H2 | H3 Lo L1|L2|L3|L4|L5(L6|L7|L8|L9|L10 Ll
max 01 02
40 730 70| 95 |13.5( 55 [188|110| 25 | 275+1.54a 1,{170]190|140|160| 79 [ 20 [154]105] 6 | 30 Gl/2 M22X1.5
50 1297 | 80 |105(13.5] 66 [215[131]| 25 | 288+1.75a )(176|215|146|185] 90 | 22 |163]|125| 6 | 0 Gl1/2 [M22X1.5
63 2266 Q0 |115|17.5] 72 |236[142| 35 | 310+1.92a 4,(204|{240|164|200|100| 25 [190]|140| 6 | 40 G3/4 | M27 X2
80 3987 95 |125]|17.5] 86 [267[168| 35 | 370+2.09a 1{215[265|175|225|105| 25 [212[150| 8 | 80 G3/4 | M27 X2
100 7476 [115[145| 22 |100|306[195| 35 | 400+2.51 a 1,{239[310[194|265|129| 32 [244[165| 8 | &0 Gl M33X 2
125 13141 |125]155| 26 |116|354|228| 40 | 464+2.83a 1,/280[335|230[285|139| 32 |284|170| 8 | 70| G1 1/4 | M42X2
140 18317 |145[180| 26 [125]|377[246| 40 | 484+3.14a 1,290[355|240( 305|161 [ 36 |290(200| 10 [ 70| G1 1/4 | M42X2
160 26583 [165/200| 33 |140({415[274| 45 |511+3.49a 1,{325[400|255)|330|183| 40 [314(220| 10 | 80| G1 1/2 | M48X 2
180 36334 [175/220| 33 |152|475[303| 45 | 584+3.77 a 1,{400{450( 330|380 195| 45 [380(240| 12 | 80| G1 1/ 2 | M48X 2
200 52335 |195|240| 33 |170({520|333| 45 | 611+4.40a 1){435|510|365|440|215| 45 |438|260|12 | 80| Gl 1/2 | M48X2
2203 | 92372 |200|245| 38 [200[660|400| 80 |1338+5.62a1){800|540| 700|460| 2» | 45 | 560|340 12 |100| G1 1/2 | M48X2
2503) | 152416 | 220|275| 38 [255[775|475| 80 |1540+7.34 a1){1050, 580|900 480| 2) [ 45 |600|380| 12 |150| G1 1/2 | M48X2
2803) | 182900 | 250|315| 38 [ 300|{900|550| 90 [1700+8.34 a1:]1200] 680/|1000[ 580| 2> | 50 | 700|420| 12 [200]| G1 1/2 | M48X2
3203) | 325720 | 320|395| 38 [320]980| 600| 95 [1920+9.12 a1:]1300] 720|1100{ 620| 25 | 56 | 750|480| 12 [200| G1 1/2 | M48 X2
NOTES: SER:
DA=Piston ¢ DA=TEREHZE-¢

MA=Macxirmurm oufput torque (NM)

a =Swiveling angle(0” ~360° )

" =The custormer according to requests o make
selection

=Only piston $220to ¢320 mm, and form of
key-seating corsfruction is 3

=Nomminal pressure=14MPa

El

MA= iz A4 i H%E (NM)
a =REHE0° ~360° )

=EPEREKIEE
={ERERE $220 F ¢ 320 mm, FHER A3
=T{EEH=14MPa



SHBRANG HYDRAULICS

Mounting GMS S / REAKXGMSS

SB08STM GMS S

Lo

L1

L8

L9

H1

D296

1| 403013

13=02

Size GMS S (in mm)

R~ GMS S (mm)

MA M1

DA max | D1[D2|D3| H |H1|H2 | H3 Lo L1|L2|13|L4 |15 L6 (L7 (L8 (L9 (L10—(s 0
40 1460 | 70 | 95 [13.5(110{220(110| 25 |275+1.54a 1|170|190|140|160| 79 | 20 [154[105| 6 | 30| G1/2 |M22X]1.5
50 2594 | 80 [105[13.5]132|262|131|25 |288+1.750a 1,{176[215[146[185] 90 [ 22 [163]125] 6 | 30| Gl/2 |M22X1.5
63 4532 | 90 |115(17.5(144[284[142| 35 [310+1.924a 4{204[240|164[{200{100| 25 [190]|140| 6 | 40| G34 [M27x2
80 7974 | 95 [125]17.5[172|336[168] 35 | 370+2.09a 1)215|265(175[225|105] 25 |212[150| 8 | 50 [ &34 [ M27x2
100 | 14952 [115/145| 22 [200/390[195] 35 [400+2.51 a 1,{239310[194|265[129| 32 [244[165| 8 [ 0| &I M33X 2
125 | 26282 [125[155| 26 [232[456[228| 40 [464+2.83a 1)280|335|230285|139| 32 [284[170[ 8 [ 70 [ &1 1/4 [ M42X2
140 | 36634 [145[180| 26 [250({492{246| 40 [484+3.14a 1)290|355|240| 305|161 36 [290[200[ 10 [ 70 [ G11/4 [ M42X2
160 | 53166 [165[200| 33 [280(548(274| 45 [511+3.49a 1)325]400|255]|330|183| 40 [314|220[ 10 [ 80 [ G11/2 [ M48X2
180 | 72668 [175/220| 33 [304[606[303| 45 [584+3.77a 1,400]450|330|380|195| 45 [330[240[ 12 [ 80 [ G11/2 [ M48X2
200 | 104670 [195]|240| 33 |340[666333| 45 [611+4.404a 1)435[510]365(440|215] 45 [438]|260[ 12 | 80 [ G11/2 | M48X2
2203 | 184744 |200{245| 38 [400/600{400| 80 [1338+5.6241(800|540|700 | 460| 2) | 45 | 560[340] 12 [100] &1 1/2 [ M48x2
2503 | 304832 |220(275] 38 [510/445[475| 80 [1540+7.34411050/580|900 | 480| 2) | 45 | 600[330] 12 [150| &1 1/2 [ M48x2
2803) | 365800 [250[315] 38 [600|515(550| 90 |1700+8.34a 11200680 [1000] 580 2) | 50 [ 700[420| 12 [200| G1 1/2 | M48% 2
3203) | 651440 [320]395| 38 |640|565[600] 95 [1920+9.12a 11300 720[1100] 620| 2) | 56 | 750| 480| 12 [200]| G11/2 | M48X2
NOTES: TEAR:
DA=Piston ¢ DA=/E#EZ ¢

MA=Maximum output torque (NM)

a =Swiveling angle(0” ~360° )

" =The custorner according fo requests to make
selection

# =0nly pisfon ¢ 22010 ¢ 320 nmm, and form of
key-seating corstruction is 3

¥ =Norminal pressure=14MPa

MA= 5 K4t H 4B (NM)

a =1EEMEQ° ~360° )

' =BPREKIAE

? ={UERER 0220 F $320 mm, FEER A3
* =T{EfEH=14MPa



SB08 STMD MSH

7T ¥ 1 3

WUXISHIBANG

Mounting DMS H / ®%#X DMS H

4.D3H13

Size D MS H (in mm) Rt DMS H (mm)
DA ol D1|D2 (D3| H | H1|H2 | H3 Lo L1|L2|L3|{L4|L5|L6|L7|L8|L9|L10 Ll
max 01 02
40 730 50| 95 [13.5] 55 188[110| 25 | 275+1.54a 1)|170[190[140| 160{57.6| 14 [154]|105| 6 | 30 Gl1/2 [M22X1.5
50 1297 60 [105[13.5] 66 [215[131 | 25 [288+1.75a 13[176[215[146[185[68.8| 18 [163[125] 6 | 0 Gl/2 |M22X1.5
63 2266 | 65 |115]|17.5] 72 |236|142| 35 | 310+1.92a 1){204|240[164|200{73.8| 18 |190|140| 6 | 40 G3/4 | M27X2
80 3987 70 | 125[17.5] 86 [267|168| 35 | 370+2.09a 1)|215|265[175| 25(79.8| 20 |212]|150| 8 | 80 G3/4 | M27 X2
100 7476 | 85|145| 22 |100|306|195| 35 | 400+2.51 a 1)|239|310]194| 265|958 22 | 244|165 8 | &0 Gl M33X2
125 13141 | 90 | 155]| 26 |116|354|228| 40 | 464+2.83a 1)|280)|335|230| 285)100.8 25 | 284|170 8 | 70| G1 1/4 | M42X 2
140 18317 |105]|180] 26 |125)|377|246| 40 | 484+3.14a 1))290)|355|240| 305)117.8 28 |290|200| 10 | 70| G1 1/4 | M42X 2
160 26583 |120|200| 33 |140(415|274| 45 | 511+3.49a 1){325|400| 255| 330[134.8 32 |314|220| 10 | 80| G11/2 | M48X2
180 36334 |125|220| 33 |152|475|303| 45 | 584+3.77a 1{400|450| 330| 380[139.8 32 |380|240| 12 | 80| G11/2 | M48X2
200 52335 |140|240| 33 |170]520|333| 45 | 611+4.40a 1){435|510|365| 440[156.8 36 |438|260|12 | 80| G11/2 | M48X2
2203) | 92372 |145|245| 38 |200|660[400| 80 |1338+5.62a1’(800[540| 700 460| 25 | 36 [560|340| 12 |100]| G1 1/2 | M48X2
2503) | 152416 | 165|275| 38 |255|775]|475| 80 |1540+7.34 a1)]1050] 580| 900| 480| 2, | 36 | 600|380 12 |180| G1 1/2 | M48X 2
2803) | 182900 | 175|315] 38 | 300|900|550| 90 |1 700+8.34 a1[1200{ 680|1000[ 580| 2) | 45 [700|420| 12 [200| G1 1/2 | M48X 2
3203) | 325720 [195|395| 38 [320]980|600| 95 |1920+9.12 1)1 300| 720{1100] 620| 2> | 50 | 750[480| 12 [200]| G1 1/2 [ M48X 2
NOTES: R
DA=Piston ¢ DA=E#HEZ ¢

MA=Maximum output torque (NM)

a =Swiveling angle(0” ~360° )

" =The customer according to requests to make
selection

=0nly piston ¢ 220 to ¢ 320 mm, and form of
key-seafing corstructionis 3

=Norrinal pressure=14MPa

»

1

MA= iz K4 %8 (NM)
a =ZHAEQ° ~360° )

3y

=EPEREKIEE
={UEREE 220 F ¢ 320 mm, TR A3 .
=T{EEH=14MPa



